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Relação do aço
2xB12 29xB16 6xB23 B37

AÇO N DIAM
(mm)

QUANT C.UNIT
(cm)

C.TOTAL
(cm)

CA60 1 5.0 8 244 1952
2 5.0 12 504 6048
3 5.0 16 238 3808
4 5.0 28 242 6776
5 5.0 47 496 23312
6 5.0 48 234 11232
7 5.0 8 224 1792

CA50 8 6.3 58 260 15080
9 6.3 58 208 12064

10 6.3 12 193 2316
11 6.3 4 191 764
12 8.0 24 194 4656
13 8.0 10 268 2680
14 10.0 145 257 37265
15 12.5 14 278 3892
16 16.0 30 275 8250

Resumo do aço
AÇO DIAM

(mm)
C.TOTAL

(m)
PESO + 10 %

(kg)
CA50

CA60

6.3
8.0

10.0
12.5
16.0

5.0

302.3
73.4

372.7
39

82.5
549.2

81.4
31.8

252.7
41.2

143.2
93.1

PESO TOTAL
(kg)

CA50
CA60

550.4
93.1

Volume de concreto (C-30) = 17.34 m³
Área de forma = 87.74 m²


